ISSN 0304-9892 (Print)

# GENERALIZATION OF CONVEX FUNCTION Himanshu Tiwari and D. B. Ojha 

Department of Mathematics, University of Rajasthan, Jaipur, Rajasthan, India-302004

Email: hmtiwari1997@gmail.com, maildpost@gmail.com
(Received: March 01, 2023; Informat: March 04, 2023; Revised: March 25, 2023; Accepted: April 08, 2023)
DOI: https://doi.org/10.58250/jnanabha.2023.53121


#### Abstract

In this paper, We established a new class of convex function $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex, which includes many well-known classes as its subclasses. We defined ( $\phi_{1}, \phi_{2}$ ) - $\beta$-convex function and discussed various properties with non-differentiable and differentiable cases. 2010 Mathematics Subject Classification: 26B25, 90C30, 52A01, 52A40 Keywords and Phrases: Non linear programming, $\left(\phi_{1}, \phi_{2}\right)-\beta-$ convex function, First order conditions, Second order conditions, $\phi_{1}-\beta$-quasi-convex


## 1 Introduction

Convexity has been of great importance in both applied and pure mathematics for the purpose of generalizing existing results in work over the past 60 years. In recent years, several extensions of the concept of convexity of a set and a function have been introduced. There are several inequalities introduced by Minkowski [14], Dragomir [10] and Ardic et al. [4] etc. using convexity. A class of convex functions introduced by Bector and Singh [5] called b-vex functions with differentiable and nondifferentiable cases were presented.

Hanson [11] introduced mathematical Programming Problem for invex functions with inequality constraints. He considered differentiable functions and then proved that instead of assumption of convexity, the objective function and each of the constraints function involved satisfy inequality with respect to the same function. Then Craven [8], inspired by Hanson's work, first systematically introduced the term "invariant convex". After that Craven and Glover [9], Ben Israel and Mond [6] and Martin [13] showed that the class of invex functions is equivalent to the class of functions whose stationary points are points of global minima.

Mishra [15] obtained optimality and duality results by combining the concepts of type I, type II, pseudotype I, quasi-type I, quasi-pseudo-type I, pseudo-quasi-type I, strictly pseudo-quasi-type I, and univex functions. Mishra and Rueda [16] also introduced and discussed $S F J$-univex programming problems then Ojha [18] extended the $S F J$-univex programming problems in complex spaces. Antczak [1] introduced several nonlinear programming problems of ( $p, r$ )-invexity type. Antczak [2] elongated the idea of $p$-invex set and defined ( $p, r$ )-pre-invex function (non-differentiable) and ( $p, r$ )-invex function (differentiable) and obtained optimality conditions for nonlinear programming problem under the idea of those functions. Antczak [3] defined $r$-preinvexity, $r$-invexity and obtained optimality criteria and duality relations for these functions in programming problem. Antczak [3] also designed duality theorems for modified $r$-invex functions based on function $\eta$.

Weir, Mond and Craven [25] and also [26, 27] showed that how and where pre-invex functions can replace convex functions in multiple objective optimization. Then Bector - singh [5] and Suneja, Singh and Bector [24] introduced a class of functions, called b-vex functions which forms a subset of the sets of both semistrictly quasi-convex and quasi-convex functions also.

Pini [19] introduced relations between invexity and generalized properties of convexity also gave a new class of generalized convex sets. Pini and Singh [21, 22] established duality results also defined $\left(\phi_{1}, \phi_{2}\right)-$
convexity which is an extremely powerful principle for characterization of generalized convexity from an integrated point of view. Where $\phi_{1}$ is a continuous deformation of straight line segments and $\phi_{2}$ identifies generalized convex combinations of values. So after that other type of convexity can be introduced.

$$
\begin{array}{cl}
\phi_{1}: D \times D \times[0,1] \rightarrow \Re^{n}, & \phi_{1}=\phi_{1}(x, y, \lambda) \\
\phi_{1}(x, y, 0)=y, \quad \phi_{1}(x, x, \lambda)=x, \quad \forall x, y \in D, \lambda \in[0,1] \\
\phi_{2}: D \times D \times[0,1] \times F \rightarrow R e, \quad \phi_{2}=\phi_{2}(x, y, \lambda, f) \\
\phi_{2}(x, y, 0, f)=f(y), \quad \phi_{2}(x, x, \lambda, f)=f(x), \quad \forall x, y \in D, \lambda \in[0,1], f \in F .
\end{array}
$$

In this paper, $\left(\phi_{1}, \phi_{2}\right)-\beta$ - convexity is defined. It is a very powerful new principle for characterizing the generalized convexity of sets and functions from a unified perspective.

In section 2 , the definition of $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function is given; we show that to appropriate selection of functions $\phi_{1}$ and $\phi_{2}$, some of the well-known classes of generalized convex functions are particular cases of this new class. An example of a $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function is also provided that does not belong to any of the known classes. We present some properties of nondifferentiable $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex functions. In this section, we also examine some properties of the solution of a mathematical programming problem involving. ( $\phi_{1}, \phi_{2}$ ) $-\beta$-convex functions; moreover, we state a senstivity result.

In section 3, we consider the differentible case. Here we state a natural necessary condition for differentiable $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex functions; in particular, we provided criteria under which the differentiable and the nondifferentiable conditions are equivalent. we state a second order sufficient condition for ( $\phi_{1}, \phi_{2}$ ) - $\beta$-convexity.

## 2 The Nondifferentiable Case

Let $G$ be a vector space of real valued functions defined on a set $D \subseteq \Re^{n}$. We are assuming two maps $\phi_{1}, \phi_{2}$ which satisfy the following assumptions:

$$
\begin{gather*}
\phi_{1}: D \times D \times[0,1] \rightarrow \Re^{n}, \quad \phi_{1}=\phi_{1}(x, y, \lambda), \\
\phi_{1}(p, q, 0)=q, \quad \phi_{1}(p, p, \lambda)=p, \quad \forall p, q \in D, \quad \lambda \in[0,1], \\
\phi_{2}: D \times D \times[0,1] \times F \rightarrow \Re, \quad \phi_{2}=\phi_{2}(p, q, \lambda, g), \\
\phi_{2}(p, q, 0, g)=g(y), \quad \phi_{2}(p, p, \lambda, g)=g(p), \quad \forall p, q \in D, \lambda \in[0,1], g \in G, \\
\phi_{2}(p, q, \lambda, g) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}, \quad \text { if } \quad \beta \neq 0, \\
\phi_{2}(p, q, \lambda, g)=\lambda g \phi_{1}(p, p, \lambda)+(1-\lambda) g \phi_{1}(p, q, 0), \quad \text { if } \quad \beta=0, \\
\phi_{2}(p, q, \lambda, g)=\lambda g(p)+(1-\lambda) g(q), \quad \text { if } \quad \beta=0 . \tag{2.1}
\end{gather*}
$$

We will also assume that $\phi_{1}$ is continuous with respect to $\lambda$. We give the following definitions and preliminaries:

Definition 2.1 ( $\phi_{1}$-convex set). $A$ set $D$ is said to be $\phi_{1}$-convex if $\phi_{1}(p, q, \lambda) \in D$ for all $p, q \in D, \lambda \in[0,1]$. The intersection of $\phi_{1}$-convex sets is also $\phi_{1}$-convex.
From now onwards, we take $D$ as a $\phi_{1}$-convex set [21].
Definition 2.2 ( $\left(\phi_{1}, \phi_{2}\right)$-convex(concave) function). A function $g \in G$ is $\left(\phi_{1}, \phi_{2}\right)$-convex(concave) if

$$
f\left(\phi_{1}(p, q, \lambda)\right) \leq \phi_{2}(p, q, \lambda, f)
$$

for all $p, q \in D$ and $0 \leq \lambda \leq 1$.
If $g=\left(g_{1}, g_{2}, \ldots, g_{k}\right): D \rightarrow \Re^{k}, g_{i} \in G$, and $g_{i}$ is $\left(\phi_{1}, \phi_{2}\right)$-convex(concave) for $i=1,2, \ldots, k$, then the vector valued function $g$ is said to be $\left(\phi_{1}, \phi_{2}\right)$-convex(concave) [21].

Definition 2.3 ( $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex(concave) function). A function $g \in G$ is said to be $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex(concave) if

$$
\begin{gather*}
g\left(\phi_{1}(p, q, \lambda)\right) \leqq \phi_{2}(p, q, \lambda, g) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \\
\text { if } \beta \neq 0(\geq), \\
f\left(\phi_{1}(p, q, \lambda)\right) \leqq \phi_{2}(p, q, \lambda, g)=\lambda g(p)+(1-\lambda) g(q)  \tag{2.2}\\
\text { if } \beta=0(\geq)
\end{gather*}
$$

for all $p, q \in D$ and $0 \leq \lambda \leq 1$.
If $g=\left(g_{1}, g_{2}, \ldots, g_{k}\right): D \rightarrow \Re^{k}, g_{i} \in G$, and $g_{i}$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex(concave) for $i=1,2, \ldots, k$, then the vector valued function $g$ is said to be $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex(concave).

Definition 2.4 ( $\phi_{1}$-quasi-convex function). A function $g \in G$ is said to be $\phi_{1}$-quasi-convex [21] on $D$ if for every $p, q \in D, \lambda \in[0,1]$

$$
g\left(\phi_{1}(p, q, \lambda)\right) \leqq \max \{g(p), g(q)\}
$$

Definition 2.5 ( $\phi_{1}-\beta$-quasi-convex function). A function $g \in G$ is said to be $\phi_{1}-\beta$-quasi-convex on $D$ if for every $p, q \in D, \lambda \in[0,1]$

$$
\begin{gather*}
g\left(\phi_{1}(p, q, \lambda)\right) \leqq \phi_{2}(p, q, \lambda, g) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \\
\leqq \max \{g(p), g(p)\} \quad \text { if } \quad \beta \neq 0 \\
g\left(\phi_{1}(p, q, \lambda)\right) \leqq \phi_{2}(p, q, \lambda, g)=\lambda g(p)+(1-\lambda) g(q) \leqq \max \{g(p), g(p)\} \quad \text { if } \quad \beta=0 . \tag{2.3}
\end{gather*}
$$

Remark 2.1. We say that this definition is independent on the vector or topological structure on D ; In fact, D can be any set.

Remark 2.2. If $\phi_{1}, \phi_{2}$ satisfy the assumptions of (2.1), then every $\left(\phi_{1}, \phi_{2}\right)-\beta$ - convex function is $\phi_{1}-\beta$ -quasi-convex. We give some examples below.

Example 2.1. Let $D$ be a convex subset of $\Re^{n}$, and define $\phi_{1}(p, q, \lambda)=\lambda p+(1-\lambda) q, \phi_{2}(p, q, \lambda, g) \leq$ $\ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \quad$ if $\quad \beta \neq 0$ and $\phi_{2}(p, q, \lambda, g)=\lambda g(p)+(1-\lambda) g(q) \quad$ if $\quad \beta=0$, then the convex function on $D$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex.

Example 2.2. If $\eta: \Re^{n} \times \Re^{n} \rightarrow \Re^{n}, D$ is a pre-invex set with respect to $\eta$, then an $\eta$-pre-invex function $g: D \rightarrow \Re$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex with $\phi_{1}(p, q, \lambda)=\lambda \eta(p, q)+q$ and $\phi_{2}(p, q, \lambda, g) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\right.$ $\left.\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \quad$ if $\quad \beta \neq 0$ also $\phi_{2}(p, q, \lambda, g)=\lambda g(p)+(1-\lambda) g(q) \quad$ if $\quad \beta=0$, where $\eta(p, q)=p-q$ [27].

Example 2.3. Let $D \subseteq N$ where $N$ is an Euclidean manifold and $D$ is geodesically convex. A geodesically convex function on $D$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex, with $\phi_{1}(p, q, \lambda)=\gamma_{p, q}(\lambda)$ and $\phi_{2}(p, q, \lambda, g) \leq \ln \left(\lambda e^{\beta g\left(\gamma_{p, p}(\lambda)\right.}+\right.$ $\left.(1-\lambda) e^{\beta g\left(\gamma_{p, q}(0)\right.}\right)^{1 / \beta} \quad$ if $\quad \beta \neq 0$ also $\phi_{2}(p, q, \lambda, g)=\lambda g\left(\gamma_{p, p}(\lambda)\right)+(1-\lambda) g\left(\gamma_{p, q}(0)\right) \quad$ if $\quad \beta=0$, where $\gamma_{p, q}$ is the geodesic from q to $\mathrm{p}[23]$.

Example 2.4. Let $D$ be a convex subset of $\Re^{n}, \phi_{1}(p, q, \lambda)=\lambda \eta(p, q)+q$ and
$\phi_{2}(p, q, \lambda, g) \leq \ln \left(a_{1}(p, q, \lambda) e^{\beta g\left(\phi_{1}\left(p, p, a_{1}(p, q, \lambda)\right.\right.}+\left(1-a_{1}(p, q, \lambda)\right) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \quad$ if $\quad \beta \neq 0$
also
$\phi_{2}(p, q, \lambda, g)=a_{1}(p, q, \lambda) g(p)+\left(1-a_{1}(p, q, \lambda)\right) g(q) \quad$ if $\quad \beta=0$.
Then every B-vex function on $D$ (with respect to $a_{1}$ ) is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex $[5,24]$.

Example 2.5. Let $I$ be a one - to - one mapping from $D \subseteq \Re^{n}$ to $\Re^{n}$, and $\Phi$ a strictly monotone increasing function mapping a subset $\sum$ of $\Re$ onto $\Re$. A function $g: D \rightarrow \sum$ is called $(I, \Phi)-\beta$-convex if, for any $p, q \in D$ and $\lambda \in[0,1]$

$$
f\left(N_{I}([p, q], \lambda)\right) \leqq n_{\Phi}[(g(p), g(q)), \lambda]
$$

provided that rangeg $\subset \operatorname{dom} \Phi$. Here

$$
N_{I}([p, q], \lambda) \leq I^{-1}\left(\ln \left(\lambda e^{\beta I(\phi(p, p, \lambda)}+(1-\lambda) e^{\beta I(\phi(p, q, 0)}\right)^{1 / \beta} \quad \text { if } \quad \beta \neq 0\right.
$$

also

$$
\begin{gathered}
N_{I}([p, q], \lambda)=\lambda I(p)+(1-\lambda) I(q) \quad \text { if } \quad \beta=0, \\
n_{\Phi}[(g(p), g(q)), \lambda] \leq \Phi^{-1}\left(\ln \left(\lambda e^{\beta \Phi(g(\phi(p, p, \lambda)}+(1-\lambda) e^{\beta \Phi(g(\phi(p, q, 0)}\right)^{1 / \beta} \quad \text { if } \quad \beta \neq 0,\right. \\
n_{\Phi}[(g(p), g(q)), \lambda]=\Phi^{-1}(\lambda \Phi(g(p)+(1-\lambda) \Phi(g(q)) \quad \text { if } \quad \beta=0 .
\end{gathered}
$$

Choosing $\phi_{1}(p, q, \lambda)=N_{I}([p, q], \lambda)$ and $\phi_{2}(p, q, \lambda, g)=n_{\Phi}[(g(p), g(q)), \lambda]$, we see that an $(I, \Phi)-\beta$-convex function is a particular $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function [7].

Remark 2.3. The functions $\phi_{1}, \phi_{2}$ of the Examples 1-5 satisfy (2.1).
Example 2.6. A function $g: \Re^{n} \rightarrow \Re^{1}=\Re \cup\{-\infty\}$ is called G-convex on the convex set D if, for every $p, q \in D, p \neq q, \lambda \in(0,1)$,

$$
g((1-\lambda) q+\lambda p) \leqq G(g(p), g(q),\|p-q\|, \lambda)
$$

where $G\left(m_{1}, m_{2}, \delta, \alpha\right): \bar{\Re}^{1} \times \bar{\Re}^{1} \times \Re_{+} \times \Re_{+} \quad \rightarrow \quad \bar{\Re}^{1}$ is continuous and non-decreasing in $\left(m_{1}, m_{2}\right)$ and $\|\cdot\|$ is an arbitrary norm on $\Re^{n}$. If we take $\phi_{1}(p, q, \lambda)=\lambda p+(1-\lambda) q$ and $\phi_{2}(p, q, \lambda, g)=G(g(p), g(q),\|p-q\|, \lambda) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}$, we get that a Gconvex function is an example of $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function [12].

Now we will give some examples of $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function that justify our results.
Example 2.7. Let $D \subset \Re$ be the set $D=(-\infty, \infty)$, and $g: D \rightarrow \Re$ be the function defined as follows:

$$
g(p)= \begin{cases}4 p, & \text { if } p>0 \\ p^{2}-p+1, & \text { if } p<0\end{cases}
$$

Define the functions $\phi_{1}: D \times D \times[0,1]$ and $\phi_{2}: D \times D \times[0,1] \times G$ as follows:

$$
\begin{gathered}
\phi_{1}(p, q, \lambda)= \begin{cases}(1-\lambda) q+\lambda p, & \text { if } p q>0 \\
q, & \text { ifpq }<0\end{cases} \\
\phi_{2}(p, q, \lambda, g)= \begin{cases}g(q), & \text { if } \lambda=0 \\
\max \{g(p), g(q)\}, & \text { if } 0<\lambda \leq 1\end{cases}
\end{gathered}
$$

This function is $\left(\phi_{1}, \phi_{2}\right)-\beta-$ convex and also justify our results.

Example 2.8. Let $D \subset \Re$ be the set $D=(-\infty,-1) \cup(1, \infty)$, and $g: D \rightarrow \Re$ be the function defined as follows:

$$
g(p)= \begin{cases}|p|-1, & i f|p|<1 \\ 1, & i f|p|>1\end{cases}
$$

Define the functions $\phi_{1}: D \times D \times[0,1]$ and $\phi_{2}: D \times D \times[0,1] \times G$ as follows:

$$
\begin{gathered}
\phi_{1}(p, q, \lambda)= \begin{cases}(1-\lambda) q+\lambda p, & \text { if } p q>0 \\
q, & \text { if } p q<0\end{cases} \\
\phi_{2}(p, q, \lambda, g)=\left\{\begin{array}{ll}
g(q), & \text { if } \lambda=0 \\
\max \{g(p), g(q)\}, & \text { if } 0<\lambda \leq 1
\end{array} .\right.
\end{gathered}
$$

This function is $\left(\phi_{1}, \phi_{2}\right)-\beta$ - convex and also justify our results.
Now for suitable assumptions on $\phi_{1}$ and/or $\phi_{2}$, we will discuss some properties of the class of $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex functions.
Observation (a). We are assuming that, $\phi_{2}$ issuperlinear with respect to $g \in G$, that is $\phi_{2}$ is superadditive and positively homogeneous. Then the class of $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex functions is a convex cone. (Practically, if g,h are $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex, and $\alpha>0$.

$$
\begin{gathered}
(g+h)\left(\phi_{1}(p, q, \lambda)\right) \leqq \phi_{2}(p, q, \lambda, g)+\phi_{2}(p, q, \lambda, h) \leqq \phi_{2}(p, q, \lambda, g+h) \\
(g+h)\left(\phi_{1}(p, q, \lambda)\right) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \\
+\ln \left(\lambda e^{\beta h\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta h\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \\
\leq \ln \left(\lambda e^{\beta(g+h)\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta(g+h)\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \quad \text { if } \quad \beta \neq 0 \\
(g+h)\left(\phi_{1}(p, q, \lambda)\right) \leq \phi_{2}(p, q, \lambda, g)+\phi_{2}(p, q, \lambda, h) \\
=\lambda g(p)+(1-\lambda) h(q)+\lambda g(p)+(1-\lambda) h(q)=\lambda(g+h)(p)+(1-\lambda)(g+h)(q) \\
\quad i f \quad \beta=0 \\
(\alpha g)\left(\phi_{1}(p, q, \lambda)\right)=\alpha\left(g\left(\phi_{1}(p, q, \lambda)\right) \leqq \alpha \phi_{2}(p, q, \lambda, g)=\phi_{2}(p, q, \lambda, \alpha g)\right. \\
\leq \ln \left(\lambda e^{\beta \alpha g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta \alpha g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \quad \text { if } \quad \beta \neq 0 \\
\quad(\alpha g)\left(\phi_{1}(p, q, \lambda)\right)=\alpha\left(g\left(\phi_{1}(p, q, \lambda)\right) \leqq \alpha \phi_{2}(p, q, \lambda, g)\right. \\
=\phi_{2}(p, q, \lambda, \alpha g)=\lambda(\alpha g)(p)+(1-\lambda)(\alpha g)(q) \quad i f \quad \beta=0
\end{gathered}
$$

Observation (b). We are also assuming that, $g: D \rightarrow \Re$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex, $h: \Re \rightarrow \Re$ is an increasing function and $\left(\phi_{3}, \phi_{4}\right)-\beta$-convex and $h o g \in G$. Then, if

$$
\begin{gathered}
\phi_{2}(p, q, \lambda, g) \leqq \phi_{3}(g(p), g(q), \lambda) \\
\phi_{4}(g(p), g(q), \lambda, h) \leqq \phi_{2}(p, q, \lambda, h o g)
\end{gathered}
$$

the function $h o g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-pre convex.(Practically, we have that)

$$
\begin{aligned}
& (h o g)\left(\phi_{1}(p, q, \lambda)\right) \leqq h\left(\phi_{2}(p, q, \lambda, g)\right) \\
& \leqq h\left(\phi_{3}(g(p), g(q), \lambda)\right) \\
& \leqq \phi_{4}(g(p), g(q), \lambda, h) \\
& \leqq \phi_{2}(p, q, \lambda, h o g) \\
& \leq \ln \left(\lambda e^{\beta \alpha(h o g)\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta \alpha(h o g)\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \quad \text { if } \quad \beta \neq 0 \\
& =\lambda(\operatorname{hog})(p)+(1-\lambda)(\log )(q) \quad \text { if } \quad \beta=0 .
\end{aligned}
$$

Remark 2.4. In Examples 2.1-2.4, we see that $\phi_{2}$ is linear with respect to g. In Example 2.5, if $\Phi$ is superlinear then $\phi_{2}$ will be superlinear.

Now we will consider a scalar value optimization problem, which can be expressed as

$$
(P) \operatorname{ming}(p) \text { s.t. } h(p) \leq 0,
$$

where $g: D \rightarrow \Re, h: D \rightarrow \Re^{k}$ Denote the feasible set by $D_{0}$, where

$$
D_{0}=\{p \in D: h(p) \leq 0\}
$$

Then the following holds:
Proposition 2.1. Suppose that
(i) $h=\left(h_{1}, h_{2}, \ldots, h_{k}\right)$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex(see Definition (2.3):
(ii) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex.

Then the set of solutions of problem (P) will be $\phi_{1}-\beta$ - convex.
Proof. The feasible set $D_{0}$ is $\phi_{1-} \beta$-convex; Practically, if $p_{1}, p_{2} \in D_{0}$, from (i) and (2.1) we have

$$
\begin{aligned}
h_{i}\left(\phi_{1}\left(p_{1}, p_{2}, \lambda\right)\right) & \leq \phi_{2}\left(p_{1}, p_{2}, \lambda, h_{i}\right) \leq \ln \left(\lambda e^{\beta h_{i}\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta h_{i}\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \\
& \leq \max \left\{h_{i}\left(\phi_{1}\left(p_{1}, p_{2}, \lambda\right)\right), h_{i}\left(\phi_{1}\left(p_{1}, p_{2}, 0\right)\right)\right\} \leq 0
\end{aligned}
$$

for any $i=1,2, \ldots, k$. Next, let $\min _{p \in D_{0}} g(p)$ be attained at $p_{1}^{0}$ and $p_{2}^{0}$. By the hypothesis (ii) and (2.1)

$$
\begin{aligned}
f\left(\phi_{1}\left(p_{1}^{0}, p_{2}^{0}, \lambda\right)\right) & \leq \phi_{2}\left(p_{1}^{0}, p_{2}^{0}, \lambda, g\right) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}\left(p_{1}^{0}, p_{1}^{0}, \lambda\right)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}\left(p_{1}^{0}, p_{2}^{0}, 0\right)\right.}\right)^{1 / \beta} \\
& \leq \max \left\{g\left(\phi_{1}\left(p_{1}^{0}, p_{1}^{0}, \lambda\right)\right), g\left(\phi_{1}\left(p_{1}^{0}, p_{2}^{0}, 0\right)\right)\right\}=g\left(p_{1}^{0}\right)
\end{aligned}
$$

But $g\left(p_{1}^{0}\right)=g\left(p_{2}^{0}\right)=\min _{p \in D_{0}} \mathrm{~g}(\mathrm{p})$, hence $g\left(\phi_{1}\left(p_{1}^{0}, p_{1}^{0}, \lambda\right)\right)=g\left(p_{1}^{0}\right)$ which completes the proof.
Definition $2.6\left(\left(\phi_{1}, \phi_{2}\right)-\beta\right.$ - pre-strictly convex(concave) function). Let $p^{0} \in D$. We say that $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ strictly convex(concave) at $p_{0}$ if

$$
\begin{gather*}
g\left(\phi_{1}\left(q, p_{0}, \lambda\right)\right)<\phi_{2}\left(q, p_{0}, \lambda, g\right) \\
\leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(q, q, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}\left(q, p_{0}, 0\right)\right.}\right)^{1 / \beta} \tag{2.4}
\end{gather*}
$$

we say that $g$ is weakly $\left(\phi_{1}, \phi_{2}\right)-\beta$ strictly convex(concave) at $p_{0}$ if (4) holds for some $\lambda \in(0,1)$. If (4) is satisfied at any $p_{0} \in D$, then $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ strictly convex(concave) on $D$.

Proposition 2.2. Suppose that $D_{0}$ is a $\phi_{1}-\beta$ convex set, and
(i) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ strictly convex at $p_{0} \in D_{0}$.
(ii) $p_{0}$ is a solution of problem ( $P$ ).

Then $p_{0}$ is the unique solution of problem $(P)$.
Proof. Let $p^{*}$ be another solution of (P). $p^{*} \neq p_{0}$. Then, for all $\lambda \in(0,1)$

$$
\begin{aligned}
g\left(\phi_{1}\left(p^{*}, p_{0}, \lambda\right)\right) & \leq \phi_{2}\left(p^{*}, p_{0}, \lambda, g\right) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}\left(p^{*}, p^{*}, \lambda\right)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}\left(p^{*}, p_{0}, 0\right)\right.}\right)^{1 / \beta} \\
& \leq \max \left\{g\left(\phi_{1}\left(p^{*}, p^{*}, \lambda\right)\right), g\left(\phi_{1}\left(p^{*}, p_{0}, 0\right)\right)\right\}=g\left(p_{0}\right)
\end{aligned}
$$

which contradicts hypothesis(ii).
In case of $\left(\phi_{1}, \phi_{2}\right)-\beta$ concave functions(see Definition 3), we have the following:
Theorem 2.1. Suppose that
(i) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ strictly concave in $D$;
(ii) $\forall p_{0} \in \operatorname{int}\left(D_{0}\right) \exists p, q \in D_{0}, p \neq q, \lambda \in(0,1]$ such that $\phi_{1}(p, q, \lambda)=p_{0}$;
(iii) $D_{0}$ is $\phi_{1}-\beta$ convex;
(iv) $\phi_{2}(p, q, \lambda, g) \geq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \geq \min \left\{g\left(\phi_{1}(p, p, \lambda)\right), g\left(\phi_{1}(p, q, 0)\right)\right\}$ for every $p, q \in D_{0}, \lambda \in[0,1]$.
Then there are no interior points of $D_{0}$ which are solution of $(P)$, i.e. if $p_{0}$ is a solution of $(P)$, then $p_{0}$ is a boundary point of $D_{0}$.

Proof. If the solution set of $(P)$ is empty, or $\operatorname{int}\left(D_{0}\right)$ is empty, there is nothing to prove. Let $p_{0}$ is a solution of $(\mathrm{P})$, and $p_{0} \in \operatorname{int}\left(D_{0}\right)$. Then by (ii) there exist $p, q \in D_{0}, p \neq q$ and $\lambda \in(0,1]$ such that $p_{0}=\phi_{1}(p, q, \lambda)$. By (i) we have that

$$
\begin{gathered}
g\left(p_{0}\right)=g\left(\phi_{1}(p, q, \lambda)\right)>\phi_{2}(p, q, \lambda, g) \\
\geq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \geq \min \left\{g\left(\phi_{1}(p, p, \lambda)\right), g\left(\phi_{1}(p, q, 0)\right)\right\} \geq g\left(p_{0}\right) .
\end{gathered}
$$

Contradiction, so it is concluded that $p_{0}$ is not a solution of $(P)$. Let $\mu_{\delta}\left(p_{0}\right)$ denote a neighbourhood of $p_{0}$ of radius $\delta$.

Theorem 2.2. Suppose that
(i) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ strictly convex;
(ii) $p_{0} \in D_{0}$ is a local minimum of $(P)$;
(iii) $\forall \delta_{1}>0$, and $\forall p \in D_{0}, \exists \lambda \in(0,1]$ such that $\phi_{1}\left(p_{0}, p, \lambda\right) \in \mu_{\delta_{1}}\left(p_{0}\right)$;
(iv) $D_{0}$ is $\phi_{1}-\beta$ convex;

Then $p_{0}$ is a strict global minimum of $(P)$.
Proof. By hypothesis (iv), for every $p \in D_{0}$, and for every $\lambda \in[0,1], \phi_{1}\left(p_{0}, p, \lambda\right) \in D_{0}$. Since $p_{0}$ is a local minimum of $(P)$, there exists $\mu_{\delta_{2}}\left(p_{0}\right)$ such that for every $p \in \mu_{\delta_{2}}\left(p_{0}\right) \cap D_{0}, g\left(p_{0}\right) \leq g(p)$. Now let $p \in D_{0}$, $p \neq p_{0}$. Then, by hypothesis (ii) and (iii), with $\delta_{1}=\delta_{2}$ we have that $g\left(p_{0}\right) \leq \phi_{1}\left(p_{0}, p, \lambda\right)$ ) for some $\lambda \in(0,1]$. Therefore, using (i) and (2.1), we have

$$
\begin{gathered}
g\left(p_{0}\right) \leq g\left(\phi_{1}\left(p_{0}, p, \lambda\right)\right)<\phi_{2}\left(p_{0}, p, \lambda, g\right) \\
\leq \ln \left(\lambda e^{\beta g\left(\phi_{1}\left(p_{0}, p_{0}, \lambda\right)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}\left(p_{0}, p, 0\right)\right.}\right)^{1 / \beta} \leq \max \left\{g\left(\phi_{1}\left(p_{0}, p_{0}, \lambda\right)\right), g\left(\phi_{1}\left(p_{0}, p, 0\right)\right)\right\}
\end{gathered}
$$

Obviously, $\max \left\{g\left(\phi_{1}\left(p_{0}, p_{0}, \lambda\right)\right), g\left(\phi_{1}\left(p_{0}, p, 0\right)\right)\right\} \neq g\left(p_{0}\right)$ since $g\left(p_{0}\right) \nless g\left(p_{0}\right)$. Therefore $g\left(p_{0}\right)<g(p)$. Since p is an arbitrary member of $D_{0}$, the proof is complete.

On the basis of Theorem 2.2, the following results can be obtained.
Theorem 2.3. Suppose that
(i) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex;
(ii) $p_{0} \in D_{0}$ is a strict local minimum of $(P)$;
(iii) $\forall \delta_{1}>0$, and $\forall p \in D_{0}, \exists \lambda \in(0,1]$ such that $\phi_{1}\left(p_{0}, p, \lambda\right) \in \mu_{\delta_{1}}\left(p_{0}\right) \backslash\left\{p_{0}\right\}$;
(iv) $D_{0}$ is $\phi_{1}-\beta$ convex;

Then $p_{0}$ is a strict global minimum of $(P)$.
Theorem 2.4. Suppose that
(i) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex;
(ii) $p_{0} \in D_{0}$ is a local minimum of $(P)$;
(iii) $\forall \delta_{1}>0$, and $\forall p \in D_{0}, \exists \lambda \in(0,1]$ such that $\phi_{1}\left(p_{0}, p, \lambda\right) \in \mu_{\delta_{1}}\left(p_{0}\right)$;
(iv) $D_{0}$ is $\phi_{1}-\beta$ convex;
(v) $\phi_{2}\left(p_{0}, p, \lambda, g\right) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}\left(p_{0}, p_{0}, \lambda\right)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}\left(p_{0}, p, 0\right)\right.}\right)^{1 / \beta} \leqq \max \left\{g\left(\phi_{1}\left(p_{0}, p_{0}, \lambda\right)\right), g\left(\phi_{1}\left(p_{0}, p, 0\right)\right)\right\}$ for every $p \in D_{0}$ with $g(p) \neq g\left(p_{0}\right)$, and for all $\lambda \in(0,1)$.
Then $p_{0}$ is a global minimum of $(P)$.
Example 2.9. Let $D \subset \Re$ be the set $D=(-\infty,-3) \cup(3, \infty)$, and $g: D \rightarrow \Re$ be the function defined as follows:

$$
g(p)= \begin{cases}|p|-3, & i f|p|<3 \\ 1, & i f|p| \geqq 3\end{cases}
$$

Define the functions $\phi_{1}: D \times D \times[0,1]$ and $\phi_{2}: D \times D \times[0,1] \times G$ as follows:

$$
\begin{gathered}
\phi_{1}(p, q, \lambda)= \begin{cases}(1-\lambda) q+\lambda p, & \text { if } p q>0 \\
q, & \text { ifpq }<0\end{cases} \\
\phi_{2}(p, q, \lambda, g)=\left\{\begin{array}{ll}
g(q), & \text { if } \lambda=0 \\
\max \{g(p), g(q)\}, & \text { if } 0<\lambda \leq 1
\end{array} .\right.
\end{gathered}
$$

This function is $\left(\phi_{1}, \phi_{2}\right)-\beta$ - convex which verifies our results.
Now we will study a regularity property of the product of $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex functions (i=2,3). First, we say the following

Lemma 2.1. Suppose that $g$, $h$ are satisfying the conditions and also real valued functions defined on $D$,
(i) $g(p) \geqq 0, h(p) \geqq 0$
(ii) $g(p)-g(q))(h(p)-h(q)) \geqq 0 \forall p, q \in D$.

Then for every $p, q \in D$, either

$$
g(p) h(p) \geqq g(q) h(p) \text { and } g(p) h(p) \geqq g(p) h(q)
$$

or

$$
g(q) h(q) \geqq g(p) h(q) \text { and } g(q) h(q) \geqq g(q) h(p)
$$

Proof. Since, by (ii),

$$
g(p)-g(q))(h(p)-h(q)) \geqq 0 \quad \forall p, q \in D
$$

it follows that either

$$
g(p) \geqq g(q) \text { and } h(p) \geqq h(q)
$$

or

$$
g(q) \geqq g(p) \text { and } h(q) \geqq h(p)
$$

which further implies(in view of (i)) that either

$$
g(p) h(p) \geqq g(q) h(p) \text { and } g(p) h(p) \geqq g(p) h(q)
$$

or

$$
g(q) h(q) \geqq g(p) h(q) \text { and } g(q) h(q) \geqq g(q) h(p)
$$

## Proposition 2.3. Suppose that

(i) $g$,h are nonnegative functions defined on $D$ and satisfying the inequality

$$
(g(p)-g(q))(h(p)-h(q)) \geqq 0, \quad \forall p, q \in D
$$

(ii) $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex, $h$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex.

Then $p q$ is $\phi_{1}-\beta$ quasi-convex.
Proof. For any $p, q \in D$ and $\lambda \in[0,1]$,

$$
\begin{gathered}
(g h)\left(\phi_{1}(p, q, \lambda)\right)=g\left(\phi_{1}(p, q, \lambda)\right) h\left(\phi_{1}(p, q, \lambda)\right) \\
\leqq \phi_{2}(p, q, \lambda, g) \phi_{2}(p, q, \lambda, h) \\
\leq\left\{\ln \left(\lambda e^{\beta f\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta f\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}\right\} \\
\times\left\{\ln \left(\lambda e^{\beta h\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta h\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}\right\} \\
\leqq \max \{g(p), g(q)\} \cdot \max \{h(p), h(q)\} .
\end{gathered}
$$

Now $\max \{g(p), g(q)\} \cdot \max \{h(p), h(q)\}$, in view of lemma, is less than or equal to $\max \{g(p), g(q)\} \cdot \max \{h(p), h(q)\}$; hence it follows that

$$
\begin{aligned}
(g h)\left(\phi_{1}(p, q, \lambda)\right) \leq & \ln \left(\lambda e^{\beta(g h)\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta(g h)\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta} \\
\leq & \max \{g(p) h(p), g(q) h(q)\} \\
& =\max \{(g h)(p),(g h)(q)\}
\end{aligned}
$$

Therefore $g h$ is $\phi_{1}-\beta$-quasi-convex.
Now we will consider the following family of problems:

$$
\min g(p) \text { s.t. } h(p) \leqq \epsilon,
$$

where $g: \Re^{n} \rightarrow \Re, h: \Re^{n} \rightarrow \Re^{k}, \epsilon \in \Re^{k}$. Denote by $g^{*}(\epsilon)$ the function

$$
g^{*}: \Re^{k} \rightarrow \Re, \quad g^{*}(\epsilon)=\inf \{g(p): h(p) \leqq \epsilon\}([25])
$$

Assume that $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex, where $\phi_{2}\left(p_{1}, p_{2}, \lambda, g\right)=\phi_{4}\left(g\left(p_{1}\right), g\left(p_{2}\right), \lambda\right)$ and the vector function h is $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex, where

$$
\overline{\phi_{2}}: \Re^{n} \times \Re^{n} \times[0,1] \times G^{k} \rightarrow \Re^{k}, \quad \overline{\phi_{2}}(p, q, \lambda, h)=\phi_{3}(h(p), h(q), \lambda)
$$

and $\phi_{3}\left(b_{1}, b_{2}, \lambda\right)$ is nondecreasing in $\left(b_{1}, b_{2}\right)$ with respect to the component wise order (if $b_{1}^{i} \leqq c_{1}^{i}$ and $b_{2}^{j} \leqq c_{2}^{j}$, $\forall i, j$, then $\phi_{3}\left(b_{1}, b_{2}, \lambda\right) \leqq \phi_{3}\left(c_{1}, c_{2}, \lambda\right)$, for every $\left.\lambda \in[0,1]\right)$
We have the following
Theorem 2.5. The function $g^{*}$ is $a\left(\phi_{3}, \phi_{4}\right)-\beta$ convex on $\Re^{k}\left(i . e . g^{*}\left(\phi_{3}\left(\epsilon_{1}, \epsilon_{2}, \lambda\right)\right) \leqq \phi_{4}\left(g^{*}\left(\epsilon_{1}\right), g^{*}\left(\epsilon_{2}\right), \lambda\right)\right)$.
Proof. Notice that if $h\left(p_{1}\right) \leqq \epsilon_{1}, h\left(p_{2}\right) \leqq \epsilon_{2}$ then

$$
h\left(\phi_{1}\left(p_{1}, p_{2}, \lambda\right)\right) \leqq \phi_{3}\left(h\left(p_{1}\right), h\left(p_{2}\right), \lambda\right) \leqq \phi_{3}\left(\epsilon_{1}, \epsilon_{2}, \lambda\right)
$$

in particular,

$$
\left\{\left(p_{1}, p_{2}\right): h\left(p_{1}\right) \leqq \epsilon_{1}, h\left(p_{2}\right) \leqq \epsilon_{2}\right\} \subseteq\left\{\left(p_{1}, p_{2}\right): h\left(\phi_{1}\left(p_{1}, p_{2}, \lambda\right)\right) \leqq \phi_{3}\left(\epsilon_{1}, \epsilon_{2}, \lambda\right)\right\}
$$

Hence

$$
\begin{aligned}
& g^{*}\left(\phi_{3}\left(\epsilon_{1}, \epsilon_{2}, \lambda\right)\right)=\inf \left\{g(p): h(p) \leqq \phi_{3}\left(\epsilon_{1}, \epsilon_{2}, \lambda\right)\right\} \\
\leqq & \inf \left\{g\left(\phi_{1}\left(p_{1}, p_{2}, \lambda\right)\right): h\left(\phi_{1}\left(p_{1}, p_{2}, \lambda\right)\right) \leqq \phi_{3}\left(\epsilon_{1}, \epsilon_{2}, \lambda\right)\right\} \\
\leqq & \inf \left\{\phi_{2}\left(p_{1}, p_{2}, \lambda, g\right): h\left(p_{1}\right) \leqq \epsilon_{1}, h\left(p_{2}\right) \leqq \epsilon_{2}\right\}(\operatorname{from}(2.6)) \\
\leq & \inf \left\{\ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}: h\left(p_{1}\right) \leqq \epsilon_{1}, h\left(p_{2}\right) \leqq \epsilon_{2}\right\} \\
= & \phi_{4}\left(g^{*}\left(\epsilon_{1}\right), g^{*}\left(\epsilon_{2}\right), \lambda\right)
\end{aligned}
$$

## 3 The Differentiable Case

Let us assume that $\phi_{1}, \phi_{2}$ have right partial derivative with respect to $\lambda$ at $\lambda=0$, for all $p, q \in D$, for all $g \in G$. If we consider a differentiable $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex function g , defined on $D \subseteq \Re^{n}$, taking into account (1), for $p, q \in D$ and $\lambda \in(0,1]$ we get that

$$
g\left(\phi_{1}(p, q, \lambda) \leqq \phi_{2}(p, q, \lambda, g)\right.
$$

$\Longrightarrow g\left(\phi_{1}(p, q, \lambda)-g(q) \leqq \phi_{2}(p, q, \lambda, g)-g(q)\right.$
$\Longrightarrow g\left(\phi_{1}(p, q, \lambda)-g\left(\phi_{1}(p, q, 0) \leqq \phi_{2}(p, q, \lambda, g)-\phi_{2}(p, q, 0, g)\right.\right.$
$\Longrightarrow \frac{1}{\lambda}\left(g\left(\phi_{1}(p, q, \lambda)-g\left(\phi_{1}(p, q, 0)\right) \leqq \frac{1}{\lambda}\left(\phi_{2}(p, q, \lambda, g)-\phi_{2}(p, q, 0, g)\right)\right.\right.$
$\Longrightarrow \frac{1}{\lambda}\left(g\left(\phi_{1}(p, q, \lambda)-g\left(\phi_{1}(p, q, 0)\right)\right.\right.$
$\Longrightarrow \leqq \frac{1}{\lambda}\left(\ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta} g\left(\phi_{1}(p, q, 0)\right)^{1 / \beta}-\phi_{2}(p, q, 0, g)\right)\right.$
and, taking the limit of both sided for $\lambda \rightarrow 0^{+}$(and since $\phi_{1}(p, q, 0)=q$ ), we have

$$
\begin{gathered}
\left.\nabla_{q} g\left(\phi_{1}(p, q, 0)\right) \frac{\partial^{+} \phi_{1}}{\partial \lambda}(p, q, \lambda)\right|_{\lambda=0} \leqq\left.\left.\frac{\partial^{+} \phi_{2}}{\partial \lambda}(p, q, \lambda, g)\right|_{\lambda=0} \nabla_{q} g\left(\phi_{1}(p, q, 0)\right) \frac{\partial^{+} \phi_{1}}{\partial \lambda}(p, q, \lambda)\right|_{\lambda=0} \\
\leqq\left.\frac{\partial^{+}\left(\ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}\right)}{\partial \lambda}\right|_{\lambda=0}
\end{gathered}
$$

We therefore have the following.
Proposition 3.1. We are assuming that $\phi_{1}, \phi_{2}$ have right partial derivative with respect to $\lambda$ at $\lambda=0$. Then a differentiable $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex function $g$ satisfies the inequality

$$
\phi_{2}(p, q, g) \geqq \nabla_{q} g(q) \phi_{1}(p, q)
$$

for every $p, q \in D$, where

$$
\begin{aligned}
\phi_{1}(p, q)=\left.\frac{\partial^{+} \phi_{1}}{\partial \lambda}(p, q, \lambda)\right|_{\lambda=0} & , \phi_{2}(p, q, f)=\left.\frac{\partial^{+} \phi_{2}}{\partial \lambda}(p, q, \lambda, g)\right|_{\lambda=0} \phi_{1}(p, q)=\left.\frac{\partial^{+} \phi_{1}}{\partial \lambda}(p, q, \lambda)\right|_{\lambda=0} \\
& \phi_{2}(p, q, g)=\left.\frac{\partial^{+}\left(\ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}\right)}{\partial \lambda}\right|_{\lambda=0}
\end{aligned}
$$

Remark 3.1. The same result holds in a more general setting, where $D$ is a subset of a Riemannian manifold, and the r.h.s. of $(2.4)$ is defined as $d g_{q}\left(\phi_{1}(p, q)\right)$.
It is easy to verify that a $\phi_{1}-\beta$ quasi-convex function h satisfies the condition

$$
h(p) \leqq h(q) \Longrightarrow \nabla_{q} h(q) \phi_{1}(p, q) \leqq 0,
$$

for every $p, q \in D$.
Definition 3.1. Let $\psi: D \times D \rightarrow D$. We say that $\psi$ is skew-symmetric on $D \times D$ if $\psi(p, q)=-\psi(q, p)$ for $\operatorname{every}(p, q) \in D \times D$.

Corollary 3.1. (To Proposition 3.1) Suppose that $g$ is differentiable and $\left(\phi_{1}, \phi_{2}\right)-\beta$ convex; if $\phi_{1}, \phi_{2}$ are related to $\phi_{1}, \phi_{2}$ as in (Proposition 3.1), and skew-symmetric for any $(p, q) \in D \times D$, then $\nabla g$ is $\phi_{1}-\beta$-monotone on $D$, i.e.

$$
\left(\nabla_{p} g(p)-\nabla_{q} g(q)\right) \phi_{1}(p, q) \geqq 0 \quad \forall(p, q) \in D \times D
$$

Proof. By (Proposition 3.1) we have that

$$
\phi_{2}(p, q, g) \geqq \nabla_{q} g(q) \phi_{1}(p, q) \quad \phi_{2}(q, p, g) \geqq \nabla_{p} g(p) \phi_{1}(q, p)
$$

and the conclusion follows from the skew-symmetry.
The local condition expressed by (Proposition 3.1) is usually not sufficient to guarantee the $\left(\phi_{1}, \phi_{2}\right)-\beta-$ convexity of $g$, unless we specify some more restrictive and global properties of the functions $\phi_{1}$ and $\phi_{2}$. Indeed, consider $\phi_{1}(p, q, \lambda)=q+\lambda \eta(p, q), \phi_{2}(p, q, \lambda, g)=(1-\lambda) g(q)+\lambda g(p)$

In Mohan and Neogy provided a counterexample, showing that the condition

$$
f(x)-f(y) \geqq \nabla_{y} f(y) \eta(x, y)
$$

does not imply in general that

$$
g(q+\lambda \eta(p, q)) \leqq(1-\lambda) g(q)+\lambda g(p) \quad \forall \lambda \in[0,1]
$$

We will assume that the function $g$ is differentiable on $D$. The following results relate the necessary condition for a differentiable $\left.\phi_{1}, \phi_{2}\right)-\beta$-convex function g , and the definition of $\left.\phi_{1}, \phi_{2}\right)-\beta$-convexity. In the first result we assume that a "regularity condition" is satisfied by $\phi_{1}$, whereas $\phi_{2}$ is the usual r.h.s. of the definition of convexity, providing a slight extension of the ordinary convex case.

Proposition 3.2. Assume that $\phi_{1}$ is differentiable with respect to $\lambda$ in $[0,1]$ : if the following are satisfied
(i) $\phi_{1}(p, q, 0)=q, \phi_{1}(p, q, 1)=p$;
(ii) $\frac{\partial \phi_{1}}{\partial v}(p, q, v)\left(t^{\prime}-v\right)=\phi_{1}\left(\phi_{1}\left(p, q, t^{\prime}\right),\left(\phi_{1}(p, q, v)\right)\right.$;
(iii) $\phi_{2}(p, q, \lambda, g)=(1-\lambda) g(q)+\lambda g(p)$
for every $p, q \in D, v, t^{\prime}, \lambda \in[0,1]$, then a function $f$ satisfying (Proposition 3.1) is $\phi_{1}, \phi_{2}-\beta$-convex.
Proof. By Proposition 3.1 and condition (i), it follows that $g(p)-g(q) \geqq \nabla_{q} g(q) \phi_{1}(p, q)$, and for every $p, q \in D$, we get that the function $h(w)=f\left(\phi_{1}(p, q, w)\right)$ is convex ; indeed

$$
\begin{aligned}
h\left(t^{\prime}\right)-h(v)= & g\left(\phi_{1}\left(p, q, t^{\prime}\right)\right)-g\left(\phi_{1}(p, q, v)\right) \\
\geqq & \nabla_{\phi_{1}} g\left(\phi_{1}(p, q, v)\right) \phi_{1}\left(\phi_{1}\left(p, q, t^{\prime}\right),\left(\phi_{1}(p, q, v)\right) \quad\right. \text { (by Proposition 3.1) } \\
= & \nabla_{\phi_{1}} g\left(\phi_{1}(p, q, v)\right) \frac{\partial \phi_{1}}{\partial v}(p, q, v)\left(t^{\prime}-v\right)(\text { by }(\mathrm{ii})) \\
& h^{\prime}(v)\left(t^{\prime}-v\right)
\end{aligned}
$$

It follows that $h$ is convex. Hence, $h(\lambda) \leqq(1-\lambda) h(0)+\lambda h(1)$. Now by hypotheses (i) and (ii) we get that

$$
g\left(\phi_{1}(p, q, \lambda) \leqq(1-\lambda) g(q)+\lambda g(p)=\phi_{2}(p, q, \lambda, g)\right.
$$

(see [26], where a special case of the Proposition 3.2 is proved).
More generally, the following result relating Proposition 3.1 and $\phi_{1}, \phi_{2}-\beta-$ convexity holds.
Theorem 3.1. We are assuming that, $g$ is a differentiable function on $D$, where $D$ is a $\phi_{1}-$ convex subset of $\Re^{n}$. Let $\phi_{i}(i=1,2)$ be the function associated with $\phi_{i}$ as in (Proposition 3.1). Then we are assuming that there exists a function $H^{\prime}: \Re \times \Re \times[0,1] \rightarrow \Re, H^{\prime}=H^{\prime}\left(w, t^{\prime}, \lambda\right)$, and the following conditions are satisfied:
(i) $H^{\prime}\left(\phi_{2}\left(p, \phi_{1}(p, q, \lambda), g\right), \phi_{2}\left(q, \phi_{1}(p, q, \lambda), g\right), \lambda\right) \leqq \phi_{2}(p, q, \lambda, g)-g\left(\phi_{1}(p, q, \lambda)\right)$;
(ii) $H^{\prime}$ is non decreasing in ( $w, t^{\prime}$ ), for every $\lambda$ fixed (if $w_{1} \leqq w_{2}, t_{1}^{\prime} \leqq t_{2}^{\prime}$. we have that $H^{\prime}\left(w_{1}, w_{1}, \lambda\right) \leqq$ $\left.H^{\prime}\left(w_{2}, t_{2}^{\prime}, \lambda\right)\right) ;$
(iii) $H^{\prime}\left(\nabla_{\phi_{1}}\left(g\left(\phi_{1}(p, q, \lambda)\right) \phi_{1}\left(p, \phi_{1}(p, q, \lambda)\right), \nabla_{\phi_{1}}\left(g\left(\phi_{1}(p, q, \lambda)\right) \phi_{1}\left(q, \phi_{1}(p, q, \lambda)\right)=0\right.\right.\right.$ for every $\lambda \in[0,1], g \in$ $G, p, q \in D ;$
(iv) $\phi_{2}(p, r, g) \geqq \nabla_{r} g(r) \phi_{1}(p, r), \forall p, r \in D$.

Then $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex on $D$.
Proof. From (iv), with $r=\phi_{1}(p, q, \lambda)$ we have that

$$
\begin{aligned}
\phi_{2}\left(p, \phi_{1}(p, q, \lambda), g\right) & \geqq \nabla_{\phi_{1}}\left(g\left(\phi_{1}(p, q, \lambda)\right) \phi_{1}\left(p, \phi_{1}(p, q, \lambda)\right),\right. \\
\phi_{2}\left(q, \phi_{1}(p, q, \lambda), g\right) & \geqq \nabla_{\phi_{1}}\left(g\left(\phi_{1}(p, q, \lambda)\right) \phi_{1}\left(q, \phi_{1}(p, q, \lambda)\right) .\right.
\end{aligned}
$$

Let $w=\phi_{2}\left(p, \phi_{1}(p, q, \lambda), g\right), t^{\prime}=\phi_{2}\left(q, \phi_{1}(p, q, \lambda), g\right)$; from (ii) and (iii), we get that

$$
H^{\prime}\left(w, t^{\prime}, \lambda\right) \geqq H^{\prime}\left(\nabla_{\phi_{1}} g\left(\phi_{1}(p, q, \lambda)\right) \phi_{1}\left(p, \phi_{1}(p, q, \lambda)\right),\right.
$$

$$
\left.\nabla_{\phi_{1}} g\left(\phi_{1}(p, q, \lambda)\right) \phi_{1}\left(q, \phi_{1}(p, q, \lambda)\right), \lambda\right)=0
$$

Finally, by (i), we have that

$$
\phi_{2}(p, q, \lambda, g)-g\left(\phi_{1}(p, q, \lambda)\right) \geqq 0, \quad \forall p, q \in D, \lambda \in[0,1]
$$

that is g is $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex. Notice that Condition C in [27] is a particular case of Theorem 3.1 where $\phi_{1}(p, q, \lambda)=q+\lambda \eta(p, q), \phi_{2}(p, q, \lambda, g)=(1-\lambda) g(q)+\lambda g(p)$, and $H^{\prime}\left(w, t^{\prime}, \lambda\right)=\lambda w+(1-\lambda) t^{\prime}$.

Example 3.1. Let $D \subset \Re$ be the set $D=[0,2]$, and $f: D \rightarrow[0,1]$ be the function defined as follows:

$$
f(x)= \begin{cases}\sqrt{x}, & \text { if } x \in[0,1] \\ \sqrt{2-x}, & \text { if } x \in(1,2]\end{cases}
$$

Define the functions $\phi_{1}: D \times D \times[0,1]$ and $\phi_{2}: D \times D \times[0,1] \times F$ as follows:

$$
\begin{aligned}
\phi_{1}(x, y, \lambda) & = \begin{cases}(1-\lambda)(2(2-\sqrt{y}))+\lambda(2-\sqrt{x}), & \text { if } x y>0 \\
2(2-\sqrt{y}), & \text { ifxy<0},\end{cases} \\
\phi_{2}(x, y, \lambda, f) & =\left\{\begin{array}{ll}
f(2(2-\sqrt{y})), & \text { if } \lambda=0 \\
\max \{f(2-\sqrt{x}), f(2(2-\sqrt{y}))\}, & \text { if } 0<\lambda \leq 1
\end{array} .\right.
\end{aligned}
$$

This function is $\left(\phi_{1}, \phi_{2}\right)-\beta$ - convex which verifies our results.
Proposition 3.3. If $g: D \rightarrow \Re$ is differentiable, and $\Phi_{1}$ satisfies assumptions (ii) and (iii) in Theorem 3.1, then $g$ is $\Phi_{1}$-quasi-convex if and only if (Remark 3.1) holds.

Proof. Similar to the proof given in [27].
Under appropriate assumptions on $\Phi_{2}$, a differentiable $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function, turns out to be invex, and we can guarantee that a stationary point is a global minimum. Here is a sufficient condition. Assume that $\phi_{2}$ satisfies the inequality

$$
\begin{equation*}
c(p, q, \lambda, g) \phi_{2}(p, q, \lambda, g) \leqq(1-\lambda) g(q)+\lambda g(p) \tag{3.1}
\end{equation*}
$$

for all $p, q \in D, \lambda \in[0,1], g \in G$, and for some function $c=c(p, q, \lambda, g): D \times D \times[0,1] \times G \rightarrow \Re$, with $c(p, q, 0, g)=1,\left.\frac{\partial c}{\partial \lambda}(p, q, \lambda, g)\right|_{\lambda=0}=0$. Then we have the following.

Proposition 3.4. Let $g$ be a differentiable $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function, where $\phi_{1}$ and $\phi_{2}$ are differentiable with respect to $\lambda$ at $\lambda=0$, for every $p, q \in D$. Assume that condition (3.1) holds. Then $g$ is invex with respect to $\eta(p, q)=\phi_{1}(p, q)$. In particular, every stationary point of $g$ is a global minimum.

Proof. From (3.1), we have that

$$
(1-\lambda) g(q)+\lambda g(p)-g(q) \geqq c(p, q, \lambda, g) \phi_{2}(p, q, \lambda, g)-c(p, q, 0, g) \phi_{2}(p, q, 0, g)
$$

Adding and subtracting $c(p, q, 0, g) \phi_{2}(p, q, \lambda, g)$ to the right hand side of the above inequality and then dividing both sides by $\lambda$ and taking the limit $\lambda \rightarrow 0^{+}$, we get

$$
g(p)-g(q) \geqq\left.\frac{\partial c}{\partial \lambda}\left(p, q, \lambda, t^{\prime}\right)\right|_{\lambda=0} \phi_{2}(p, q, 0, g)+c(p, q, 0, g) \phi_{2}(p, q, g)=\phi_{2}(p, q, g)
$$

Since, by Proposition 3.1, $\phi_{2}(p, q, g) \geqq \nabla_{q} g(q) \phi_{1}(p, q)$, we have that

$$
g(p)-g(q) \geqq \phi_{2}(p, q, g) \geqq \nabla_{q} g(q) \phi_{1}(p, q)
$$

This proves that $g$ is $\phi_{1}(p, q)$ - invex and hence every stationary point is a global minimum point.
Now we will assume that $g: D \rightarrow R$ and $\phi_{1}: D \times D \times[0,1] \rightarrow D$ satisfy the assumptions
(i) $g \in C^{2}(D)$;
(ii) $\phi_{1}(p, q) \in C^{2}([0,1])$.

After that we have the following sufficient condition for $\left(\phi_{1}, \phi_{2}\right)-\beta-$ convexity:
Proposition 3.5. In our previous assumptions, $g$ is $\left(\phi_{1}, \phi_{2}\right)-\beta$ - convex for every $\phi_{2}\left(p, q, t^{\prime}, g\right)=$ $\int_{0}^{t^{\prime}} g(p, q, w) d w+g(q)$, where $h$ is any solution of the differential inequality

$$
\begin{gather*}
\frac{\partial h}{\partial t^{\prime}}\left(p, q, t^{\prime}\right) \geqq\left(\frac{\partial \phi_{1}}{\partial t^{\prime}}\right)^{T^{\prime}}\left(p, q, t^{\prime}\right) H_{\phi_{1}}^{\prime} g\left(\phi_{1}\left(p, q, t^{\prime}\right)\right) \frac{\partial \phi_{1}}{\partial t^{\prime}}\left(p, q, t^{\prime}\right) \\
+\nabla_{\phi_{1}} g\left(\phi_{1}\left(p, q, t^{\prime}\right)\right) \frac{\partial^{2} \phi_{1}}{\partial t^{\prime}}\left(p, q, t^{\prime}\right) \\
h(p, q, 0)=\nabla_{q} g(q) \phi_{1}(p, q) \tag{3.2}
\end{gather*}
$$

Proof. Consider, for every $p, q \in D$,

$$
s\left(t^{\prime}\right)=g\left(\phi_{1}\left(p, q, t^{\prime}\right)\right)-\phi_{2}\left(p, q, t^{\prime}, g\right)
$$

where $\phi_{2}\left(p, q, t^{\prime}, g\right)=\int_{0}^{t^{\prime}} h(p, q, w) d w+g(q)$, and $h$ satisfies (Proposition 3.4). We prove that $s\left(t^{\prime}\right) \leqq 0$ for every $t^{\prime} \in[0,1]$. We have that

$$
\begin{gathered}
s(0)=g(q)-g(q)=0 \\
s^{\prime}(0)=\nabla_{q} g(q) \phi_{1}(p, q)-\nabla_{q} g(q) \phi_{1}(p, q)=0 \\
s^{\prime \prime}\left(t^{\prime}\right)=\left(\frac{\partial \phi_{1}}{\partial t^{\prime}}\right)^{T^{\prime}}\left(p, q, t^{\prime}\right) H_{\phi_{1}}^{\prime} f\left(\phi_{1}\left(p, q, t^{\prime}\right)\right) \frac{\partial \phi_{1}}{\partial t^{\prime}} \\
+\nabla_{\phi_{1}} g\left(\phi_{1}\left(p, q, t^{\prime}\right)\right) \frac{\partial^{2} \phi_{1}}{\partial t^{\prime}}\left(p, q, t^{\prime}\right)-h^{\prime}\left(t^{\prime}\right) \leqq 0
\end{gathered}
$$

Therefore, $s(t) \leqq 0$ for every $t^{\prime} \in[0,1]$, and $g\left(\phi_{1}\left(p, q, t^{\prime}\right) \leqq \phi_{2}\left(p, q, t^{\prime}, g\right)\right.$ for every $p, q \in D, t^{\prime} \in[0,1]$.

## 4 Conclusions

In this paper, we established a new class of convexity named $\left(\phi_{1}, \phi_{2}\right)-\beta$-convexity. Our new class is a super class of many well-known classes.

- When we take $\phi_{1}(p, q, \lambda)=\lambda \eta(p, q)+q$ and $\phi_{2}(p, q, \lambda, g)=\lambda g(p)+(1-\lambda) g(q) \quad$ then it shows the result of [16]
- When we take $\phi_{1}(p, q, \lambda)=\gamma_{p, q}(\lambda)$ and $\phi_{2}(p, q, \lambda, g)=\lambda g\left(\gamma_{p, p}(\lambda)\right)+(1-\lambda) g\left(\gamma_{p, q}(0)\right)$ then it shows the result of [23]
- If $a_{1}(p, q, \lambda)=\lambda$ then it shows the result of $[4,19]$
- When we take $\phi_{1}(p, q, \lambda)=N_{I}([p, q], \lambda)$ and $\phi_{2}(p, q, \lambda, g)=n_{\Phi}[(g(p), g(q)), \lambda]$, we see that an $(I, \Phi)-\beta-$ convex function is a particular $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function, which shows the result of [24]
- If we take $\phi_{1}(p, q, \lambda)=\lambda p+(1-\lambda) q$ and $\phi_{2}(p, q, \lambda, g)=G(g(p), g(q),\|p-q\|, \lambda) \leq \ln \left(\lambda e^{\beta g\left(\phi_{1}(p, p, \lambda)\right.}+\right.$ $\left.(1-\lambda) e^{\beta g\left(\phi_{1}(p, q, 0)\right.}\right)^{1 / \beta}$, we get that a G-convex function is an example of $\left(\phi_{1}, \phi_{2}\right)-\beta$-convex function, which shows the result of [25]
- If we take $\beta=0$ then this function is convert into $\left(\phi_{1}, \phi_{2}\right)$-convex function, which shows the result of [22]
We can extend results of our paper for interval-valued function under the assumptions of $\left(\phi_{1}, \phi_{2}\right)-\beta$ convexity.


## References

[1] T. Antczak, On ( $p, r$ )-Invexity-Type nonlinear programming problems, Journal of Mathematical Analysis and Applications, 264(2) (2001), 382-397. https://doi.org/10.1006/jmaa.2001.7665.
[2] T. Antczak, ( $p, r$ )-Invex sets and functions, Journal of Mathematical Analysis and Applications, 263(2) (2001), 355-379. https://doi.org/10.1006/jmaa.2001.7574.
[3] T. Antczak, $\gamma$-preinvexity and $\gamma$-invexity in mathematical programming, Computers \& Mathematics with Applications, 50(3-4) (2005), 551-566. https://doi.org/10.1016/j.camwa.2005.01.024.
[4] M.A. Ardc, A.O. Akdemir and K. Yildiz, On some new inequalities via GG-convexity and GA-convexity, Filomat, 32(16)(2018), 5707-5717. https://doi.org/10.2298/fil1816707a.
[5] C. R. Bector and C. Singh, B-vex functions, Journal of Optimization Theory and Applications, $71(2)(1991), 237-253$. https://doi.org/10.1007/bf00939919.
[6] A. Ben-Israel and B. Mond, What is invexity?, The Journal of the Australian Mathematical Society Series B. Applied Mathematics, 28(1)(1986), 1-9. https://doi.org/10.1017/s0334270000005142.
[7] A. Ben-Tal, On generalized means and generalized convex functions, Journal of Optimization Theory and Applications, 21(1)(1977), 1-13. https://doi.org/10.1007/bf00932539.
[8] B. D. Craven, Invex functions and constrained local minima, Bulletin of the Australian Mathematical Society, 24(3)(1981), 357-366. https://doi.org/10.1017/s0004972700004895.
[9] B. D. Craven and B. M. Glover, Invex functions and duality, Journal of the Australian Mathematical Society. Series A. Pure Mathematics and Statistics, 39(1)(1985), 1-20. https://doi.org/10.1017/s1446788700022126.
[10] S.S. Dragomir, Inequalities of Hermite-Hadamard type for HG-convex functions, Issues of Analysis, 24(2)(2017), 25-41. https://doi.org/10.15393/j3.art.2017.3790.
[11] M.A. Hanson, On sufficiency of the Kuhn-Tucker conditions, Journal of Mathematical Analysis and Applications, 80(2)(1981), 545-550. https://doi.org/10.1016/0022-247x(81)90123-2.
[12] J. Kyparisis and A. V. Fiacco, Generalized convexity and concavity of the optimal value function in nonlinear programming, Mathematical Programming, 39(3)(1987), 285-304. https://doi.org/10.1007/bf02592078.
[13] D. H. Martin, The essence of invexity, Journal of Optimization Theory and Applications, 47(1)(1985), 65-76. https://doi.org/10.1007/bf00941316.
[14] H. Minkowski, Gesammelte abhandlungen 2, BG Teubner,1911.
[15] S. K. Mishra, On multiple-objective optimization with generalized univexity, Journal of Mathematical Analysis and Applications, 224(1)(1998), 131-148. https://doi.org/10.1006/jmaa.1998.5992.
[16] S. K. Mishra and N. G. Rueda, On univexity-type nonlinear programming problems, Bull. Allahabad Math. Soc, 16(2001), 105-113.
[17] S. R. Mohan and S. K. Neogy, On invex sets and preinvex functions, Journal of Mathematical Analysis and Applications, 189(3)(1995), 901-908. https://doi.org/10.1006/jmaa.1995.1057.
[18] D. B. Ojha, On Univexity-type Nonlinear Programming Problems in Complex Spaces, International Journal of Computing and Corporate Research, 1(2) (2011), .
[19] R. Pini, Invexity and generalized convexity, Optimization, 22(4)(1991), 513-525. https://doi.org/10.1080/02331939108843693.
[20] R. Pini, Convexity along curves and indunvexity, Optimization, 29(4)(1994), 301-309. https://doi.org/10.1080/02331939408843959.
[21] R. Pini and C. Singh, $\left(\phi_{1}, \phi_{2}\right)$ convexity, Optimization, $\mathbf{4 0}(2)(1997)$, 103-120. https://doi.org/10.1080/02331939708844303.
[22] R. Pini and C. Singh, ( $\phi_{1}, \phi_{2}$ ) optimality and duality under differentiablity, Optimization, 41(2)(1997), 101-116. https://doi.org/10.1080/02331939708844329.
[23] T. Rapcsk, Geodesic convexity in nonlinear optimization, Journal of Optimization Theory and Applications, 69(1)(1991), 169-183. https://doi.org/10.1007/bf00940467.
[24] S. K. Suneja, C. Singh and C. R. Bector, Generalization of preinvex and B-vex functions, Journal of Optimization Theory and Applications, 76(3)(1993), 577-587. https://doi.org/10.1007/bf00939384.
[25] T. Weir, B. Mond and B. D. Craven, Weak minimization and duality, Numerical Functional Analysis and Optimization, 9(1-2), 181-192. https://doi.org/10.1080/01630568708816230.
[26] T. Weir and B. Mond, Proper efficiency and duality for vector valued optimization problems, Journal of the Australian Mathematical Society Series A. Pure Mathematics and Statistics, 43(1) (1987), 21-34. https://doi.org/10.1017/s1446788700028937.
[27] T. Weir and B. Mond, Pre-invex functions in multiple objective optimization, Journal of Mathematical Analysis and Applications, 136(1)(1988), 29-38. https://doi.org/10.1016/0022-247x(88)90113-8.

